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38 |08:30 |+ 3 |45 #% | 1&# (600G) T EEYEEYY
39 |08:30 |+ |40 & | 4 (600G) AR | 534,231
40 |08:30 |~ |35% | 1&4 (600G) AE |34 B34
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42 10830 |+F |25% |14 (600G) i A el I
43 0850 | §5F |25 % | 5000M AE |22 BiR2 1
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46 |08:50 | §+ |40 & | 5000M ARk | 534 FE3
47 10850 | § + |45 % | 5000M AR | £ 34 EE3
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275 | 10:05 | %+ | 70 % 200MH(0.762M) 1A BRI A
276 |10:15 |+ 3+ | M24 #% | 200M L 1A ERLA
277 |10:15 |~ 3+ |25 & 200M L3 A FHIRE3A
278 |10:15 |~ 3+ |30 & 200M L2 A HIR2 4
279 |10:18 |+ |35 % 200M £3AHRIA
280 |10:18 | =+ |40 & 200M E1ABBRLA
281 |10:18 |~ 3+ |45 % 200M E1AHERLA
282 |10:20 | ¥ + |80 % 4a1k (3KG) £ 34,34
283 |10:20 | ¥ & |90 & 4418 (3KG) 224 B2 4
284 |10:21 |~ 3+ |50 % 200M E1AHERLA
285 |10:21 | %3+ |55 & 200M H2A B2
286 |10:25 |~ 3+ |60 % 200M £1AHERLA
287 |10:25 | %3+ |75 & 200M £1AHERLA
288 | 10:25 |~ 3+ |80 % 200M £33 4 FRIA
289 |10:28 | § &+ | M24 #% | 200M L6064 HIE6A
290 |10:30 |~ &+ |50 % 47k (BKG) £ 54 54
291 |10:30 | %3 |55 & £-3% (3KG) £ 34, B34
292 |10:31 | 3% |25 % 200M L6 4 FIEO6 A
293 |10:34 | 7+ |30 & 200M £ 54 HIR5 A
294 |10:37 | § % |35 k& 200M 44 HFiR4A
295 |10:40 |+ |35 & = Bpkik £ 148514
296 |10:40 |~ + |80 % = Bt iR £ 2424
297 1040 | § & |85 & Z PR L1 A B ] A
298 |10:40 | § 3 |90 & = BB L2 A B2 A
299 |10:40 | § & |40 & 200M L4 A R4 A
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305 [11:01 | 3 |60 & |200M A | 464 BIE6 L
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310 [11:10 | § 3 |30 & | 443 (7.26KG) AR | 2141
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